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&5 FET B 40 40 80 | 10.0 | 70.0
#ig o, B 35 41 76 50| 71.0

3 il EE 39 43 82 | 10.0 | 72.0
4 £ = 43 40 83 | 10.0 | 73.0
5 aA TF 38 39 11 2.0 | 75.0
6 BiE & 41 43 84 8.0 | 76.0
7 XH #Hi 45 42 87 | 10.0 | 77.0
8 B e 41 47 88 | 11.0 | 77.0
9 FA SF 44 43 87 8.0 | 79.0
10 ER XE 44 45 89 | 10.0 | 79.0
11 R Flz 41 40 81 1.0 | 80.0
12 RE BEE 42 40 82 2.0 | 80.0
13 aERIN BEZ 44 46 90 | 10.0 | 80.0
14 fERK =E=F 44 46 90 9.0 | 81.0 [RED
15 KA AR 45 47 92 | 10.0 | 82.0 |RED
16 X% Bo 46 44 90 6.0 | 84.0
17 Rl XZ= 42 49 91 7.0 | 84.0
18 bl Ez 51 42 93 7.0 | 86.0
19 NEE N 48 46 94 6.0 | 88.0
20 BR &= 48 51 99 | 11.0 | 88.0
21 =H =E 53 47 100 | 11.0 | 89.0
22 INR —HR 55 45 100 | 10.0 | 90.0
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2R MR B 48 50 98 | 25.0 | 73.0

#iz fall EA 41 45 86 | 12.0 | 74.0
3 mFE  ET 44 46 90 | 14.0 | 76.0
4 nE =|aA 42 48 90 | 13.0 | 77.0
5 Ay i 4] 43 90 | 13.0 | 77.0
6 L% ER 47 48 9 | 17.0 | 78.0
1 NI +— 43 49 92 | 13.0 | 79.0
8 AR M= 46 48 94 | 15.0 | 79.0
9 a# —E 46 48 94 | 14.0 | 80.0
10 HER HHl 43 57 100 | 20.0 | 80.0
11 hE R 51 4] 98 | 16.0 | 82.0
12 BWPE AfE 50 50 100 | 18.0 | 82.0
13 =i FR 54 51 105 | 23.0 | 82.0
14 BE EXR 50 46 9 | 13.0 | 83.0
15 ¥ B= 517 48 105 | 15.0 | 90.0
16 Bl BE 57 49 106 | 16.0 | 90.0
17 BAR RZ 51 62 13| 21.0 | 92.0
18 A fE— 57 57 114 | 21.0 | 93.0
19 BE #5] 54 95 109 | 12.0 | 97.0

AN O EZ 37 45 82
TAN HBE M2 57 47 104
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